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Answer the Questions from any one Option.

OPTION-A
( E-Commerce)
Paper : COM-SEC-4014
OPTION - B

Full Marks : 50
Time : Two hours

The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.
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OPTION - A
Paper : COM-SEC-4014

( E-Comnierce )

1. Answer any four from the following :
1x4=4

AR 1 R s et f ¢

() E-Commerce refers to

mﬁ—ﬁaﬁr

selling products

A [ =i
All of the above

G FHEIEN

() Which segment focuses on consumers
dealing with each other ?

mw?ﬁmw%maﬁwtﬂr@m
IS @35y g o

(@l C2C

oafo
(h) B2B
ENG
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(c) C2B
BRG]

(d) P2P
LT

(iii) Electronic commerce can increase sale
andysis costs.  (Fill in the blank)

Ege Afders Reet 3 [ it o= 757
| (31571 1% 75 1)
(iv) IP stands for ; o o
P R 3w A\
(a) Internet Protocol
TR TG
(b) Internet Programming
TR 2aifi
(c) Internal Program
SeFgS 1o FAA5!
(d) Intra Program
TG el
~ (v) Internet is owned by
THRE AR
" (@) Microsoft Corporation
TRFZD FCofiCapaT
(b) Tata play
BIGT (29

e
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(c) Facebook | 2. Answer any three : : 2x3=6

5T | Rizsieat foforq Tes e 5
(¢) None of the above () What is an e-business model ?
TR GRS 72 | By oIS R e
(v)) E-payment is doing payment . (ii) ' What is a digital signature ?
G (Fill in the blank) | oferea = o ‘
RARCII TR e E(iﬁi JC\"‘;? ﬂﬁm_ﬁ“ ' (i) State few advantages of web add.
279 791)
: 1 Reisie @eomm ARy Trmd o1 |
vii) E-marketi i
(v8) - ma/r i prov1des - Define e-wallet.
GRS
il ZICET0R TR |
S :
(a) nation coverage What is crypiosohy ?
@iglﬂ FOES %
(b) local coverage TR 2
Tg[ﬁ:]?] TOIES What is phlshlng ?
(c) global coverage g e
COITH I TS
(d) “None of the above - 3. Write short notes on : (any two) S5x2=10
GIAITR G! T= : - 3] (o1l o1l ¢ (et w61)
(viii) <BODY> is a . tha () E-commerce revenue model
(Fill in the blank) 2l :
<BODY> 5 o (ii) Basic structure of a HTML page
il éf’a\ﬁ?“/ =) ' Bt «ZEHONGE R Ghfers el
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(i) Technology used in e-commerce
(iv) Online banking
SHEIR (JfER

(v) IT Act, 2000
= @3, 2000
(vi) Cryptography
ferebiar)

-\

4. Answer any three oy
Ricwc fofsraoes s =

(i) Define lists. Explain different types of
lists used in HTML with one simple
example. 2+8=10
SiferRera ket it | 451 71 Srregem Toirs
DTS aze [ifen deim it 7

RN

(@) Write the salient features of
A of the IT Act,

w3 @, 2000 I3 ABIER e |

(iti) Wh_at is online shopping ? Explain
dlffere.nt steps involved in the online
shopping process. 2+8=10
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weeTizn o1 3 2 wmetiae 2ok aiferars sose
fafeq AeEwsi@E 3¢ T |
(iv) What is electronic payment system ?

Describe different methods of electronic
payment system. 2+8=10

FEgAS ARG el e g sy
oIS f[fen oiafs aofq 31 |

"’""‘:"e»'-‘lj@}f;_‘_\Write about different factors involved in
/
i

i
»

): éccommerce website design.

<
h
X
Yoes b

5 ARG Uizt swve [fey SR

- Write about different steps and
techniques for promoting an
e-commerce website.

356 (I9RIZ6 OI9 2be A [ien smoset
i (e [Ee Tt

(vii) Describe e-commerce security threats.

2:3ifrey e SR 19 <= |

(viii) Describe the major e-commerce
business models.

20 TG A TCCHAER 9691 = |
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OPTION -B
Paper : COM-SEC-4024
( E—Filing of Returns)
Say whether the following statements are
True or False : (any four) 1x4=4
wTS it Ryfoom ws 7 s o (Ricizan
wF5r) | |
(i) E-Filing is mandatory for a company.
51 GRI™AIT I E-Filing ATOIETE 27 |

(i) Filing of ITR is compulsory if a tax payer
has deposited an amount of Rs. 1 crore

TG FITOF (P! @51 A Sroifts @
© GHETS G (I 1 ST wids Gl @y

(i) A person can hold af least two PAN.
& T &S P37 75 PAN 1R g |

(iv) Assessment year is a]
12 months.

ﬁiﬁ%‘f?ﬁ"ﬂ’ﬁﬁmﬂ@@|

ways a period of
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(v) For submitting Form 15G, the applicants
- must be below 60 years of age.

Form 15G &l S I SIS T2
60 I O I I |
(vi) IGST is collected by State Government.
G310 GST Y HIFIE TRAZ I |
(vii) GST signifies one state many tax.
- GST @ 9% 3/ 32 < iz |

(viti) The burden of GST is borne by the
consumer.

GST 3 @S AT 2 I3 I(F |
Answer any three of the following quéstions :
2x3=6
fsferfe exa M ofsT Tes i ¢
(@) What is ITR-V ? <
ITR-V &2

() What is digital signature certificate.

(DSC) ?
Digital signature certificate (DSC) &2

() What do you mean by total income ?

¢ @I Jferea 6 gent 2
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(d)

(e)

Explain briefly about TAN.,
TAN 3 R0 550 1= 71 |
What do you mean by Form 16A ?

16A 59 JfeiteT [ ge 2

Write short note on ITR-1.

ITR-1 QGWE&@T@%‘Q}“

Answer the following questions - (any two)

S5x2=10

WW%@%?H (Ricerea gon)

: ’(a)

®)

State any five differences between

\E- filing and manual filing of returns.

- /B-filing W< Zgifere < 2ot et <
NS < R At Ak -

Mention any five disadvantages of -

manual filing of returns,

OIS 5 e e e ﬁmvﬁm
SRl SR |
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(c) Explain the structure of PAN. .
PAN 3 7109 37T 101 <41 |

(d) Who are reSponsible for dedugting tax

at source ?
TS T T T WG I 2RSSl T
247
(e) Write a short note on GSTR-1.
GSTR-1 ¥ 8599 5% (GBI &1l |

(f) Write the names of any ﬁve speciﬁed

: / % PAN is mandatory. A
gr A5t Keda feln e = T o'

4. Answer the following questions : (any three)
10x3=30

©oTd 2T el iRl ¢ (Rieien fefab)

(a) Mr. Raghab Baruah, aged 4S5 years, is

employed in a public sector company.
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buring the previous year 2021-22, he

received a basic salary of il,O0,0.00 p-m,

dearness allowance 50% of basic salary,

house rent allowance 240,000 p.m. and

/ special allowance of 210,000 p.m.
| Mr. Baruah resides in a rented house at
Guwahati and the rent paid by him is

230,000 p.m. He maintains a savings

bank account with HDFC Bank and

/gmt;}\ during .the previous year 2021-22,
5/ S/ 240,000 was credited in his bank

Pl I 3
gfaccount as interest.

“
[
BN

z

) . : LAl

\OOPC"V : s/ During the previous year, he had paid
260,000 as life insurance premium and

325,000 as medical insurance premium

through net banking.

Compute his tax liability if Mr. Baruah

opts for old regime.
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AN T 791, T 45 TF TR o1 AR
AeDITe F® | 202 1-22 AREF IFO (SO
o1 v fs Wz 1,00,000 B, IR I
T4 VIR 50%, 79 ©iwl ©iG1 40,000 53 &f®
Tz Reeia ©i51 1C2 10,000 51 2017 | EISTH
AR SR <51 ©Iel T IR I W A
Stz 30,000 Tt S AT I | (TS
HDFC @ «ft z2eq f25iel g o (Il
ISTE 7 2021-22 © J&S I-T 40,000 5
T 2 | : |
(STTe G Tl [ 60,000 51 1= o Rl
FrIiE 1% 25,000 Tt (5 (FefFes =it Aif<ehiy

Write a note on various provisions of the

new tax regime.

o T4 TR RUFERE I w1 afb (Gt & |
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(c) Explain various types of TDS certificates -

along with their'applicability and related

provisions.
4\;{3‘« . [fen TDS certificates 3 Rata Sy R woite
&/ & | \Wﬁﬁﬂﬁmmﬁmwﬁnﬁwq@
EN £
\9 Explain the contents of Form 16.
" Form 16 %WQ‘WWI

(e) Explain various ways of verification of
ITR submitted by an assessece.

ITR %I efsfie] =19 Rfw w3 <= |

(f) Explain various ITR forms used by

different types of assessees.

%Wwwﬁﬁlmm—ﬂw
7=l foranr |

(g9 What is E-filing ? Mention four

e DN

advantages -and four limitations of
E-filing.

E-filing 57 B-filing 7 5155 54 w1 51557
MIBISES Au R
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(h) Write various steps of computation of
total income.

gﬁwﬁwqwﬁf‘ﬁ TR T4l |
4
A <
fid eSS P 2
2 4 Ttw._r,'” : _v:.i?
% 3 Nad.-
M el Lt
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